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Dloldtion of e Pooir of Yhnear “Equations in Jiwo Variables
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Solve for x and y.

(D 7X-2y/xy =5
8x+ 7y/xy =15

(b)

(a)

Solution: Taking eqn. (a)
7x-2y/xy=5
=7X/Xy - 2y/Xy =5
=27/y-2/x=5..(i)
Taking eqn. (b)
=8x+ 7y/xy =15
=8x/xy + 7y/xy = 15
=8/y+7/x=15 ... (ii)
Let1/x=pand1/y =qin (i) and (ii) we
get,
7q-2p=>5... (iii)
8q+7p=15..(iv)
Multiplying equation (iii) by 7 and
multiplying equation (iv) by 2 we get,
49q -14p =35..(v)
16q + 14p = 30 ... (vi)

Now, adding equation (v) and (vi) we
get,

49q-14p+16q+14p=35+30

= 65q =65

=>q=1

Putting the value of q in equation (iv)
8+7p=15

=>7p=7=>p=1

Now,

p=1/x=1

=21/x=1=2x=1

also,q=1=1/y

=21/y=1

=>y=1

Hence, x =1 and y = 1 is the solution.
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(i) 6x + 3y = 6xy
2X + 4y = 5xy
. 7x-2y
(ii) o 5
8x+7y

xy

=15, (x#0andy= 0)

(iii) 3(x+ 2y) = 7xy

3(x+ 3y) =11xy, (x# 0 and y=+ 0)

) XY _ 6
(IV) x+y_ 5
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X

= 6 (x¥0,y#0andx+Yy)







